

**MAPPING PROPERTIES OF HYPERGEOMETRIC TRANSFORMS
ON CERTAIN CLASS OF ANALYTIC FUNCTIONS**

Virendra Upadhayay, K. K. Dixit*, Ankit Dixit and Saurabh Porwal**

Department of Physical Sciences,
M. G. C. G. V. Chitrakoot - 485780, (M.P.), INDIA

E-mail : drvirendra.upadhayay@gmail.com, ankitdixit.aur@gmail.com

*Department of Mathematics,
Janta College, Bakewar, Etawah - 206124, (U.P.), INDIA

E-mail : kk.dixit@rediffmail.com

**Department of Mathematics,
Ram Sahai Government Degree College,
Bairi-Shivrajpur, Kanpur - 209205, (U.P.), INDIA

E-mail : saurabhjcb@rediffmail.com

(Received: Jan. 18, 2021 Accepted: Nov. 20, 2021 Published: Dec. 30, 2021)

Abstract: The purpose of the present paper is to obtain certain sufficient condition for analytic function defined by a generalized Hypergeometric operator for the class $UCD(\beta)$. Relevant connection of the results presented here with various well-known results are briefly indicated.

Keywords and Phrases: Analytic functions, Univalent functions, Hypergeometric functions.

2020 Mathematics Subject Classification: 30C45.

1. Introduction

Let A denote the class of functions f of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1.1)$$

which are analytic in the open unit disk $U = \{z : z \in C \text{ and } |z| < 1\}$ and satisfy the normalization condition $f(0) = f'(0) - 1 = 0$.

As usual, we denote by S the subclass of A consisting of functions which are also univalent in U . A function $f \in A$ is said to be starlike of order α ($0 \leq \alpha < 1$), if and only if

$$\Re \left(\frac{zf'(z)}{f(z)} \right) > \alpha, \quad (z \in U).$$

The class of this function is denoted by $S^*(\alpha)$. We also write $S^*(0) = S^*$, where S^* denote the class of functions $f \in A$ that are starlike in U with respect to the origin. A function $f \in A$ is said to be convex of order α ($0 \leq \alpha < 1$), if and only if

$$\Re \left(1 + \frac{zf''(z)}{f'(z)} \right) > \alpha, \quad (z \in U).$$

This class is denoted by $K(\alpha)$. Further, $K = K(0)$, the well known standard class of convex functions. It is an established fact that

$$f \in K(\alpha) \Leftrightarrow zf' \in S^*(\alpha).$$

A function $f \in A$ is said to be in the class UCV of uniformly convex functions in U if and only if it has property that, for every circular arc γ contained in unit disk U , with center ζ also in U , the image curve $f(\gamma)$ is convex arc. The function class UCV was introduced by Goodman [6]. Furthermore, we denote by $k-UCV$ and $k-ST$, ($0 \leq k < \infty$), two interesting subclasses of S consisting respectively of functions which are k -uniformly convex and k -starlike in U . Namely, we have for ($0 \leq k < \infty$)

$$k-UCV = \left\{ f \in S : \Re \left(1 + \frac{zf''(z)}{f'(z)} \right) > k \left| \frac{zf''(z)}{f'(z)} \right|, (z \in U) \right\}$$

and

$$k-ST = \left\{ f \in S : \Re \left(\frac{zf'(z)}{f(z)} \right) > k \left| \frac{zf'(z)}{f(z)} - 1 \right|, (z \in U) \right\}.$$

The class $k-UCV$ was introduced by Kanas and Wisniowska [8], where its geometric definition and connections with conic domains were considered. The class $k-ST$ was investigated in [9]. In fact, it is related to the class $k-UCV$ by by means of the well-known Alexander equivalence between the usual classes of convex and starlike functions (see also the work of Kanas and Srivastava [10] for further developments involving each of the classes $k-UCV$ and $k-ST$). In

particular, when $k = 1$, we obtain $1 - UCV = UCV$ and $1 - ST = SP$, where UCV and SP are the familiar classes of uniformly convex functions and parabolic starlike functions in U , respectively (see for detail study [6]). In fact, by making use of a certain fractional calculus operator, Srivastava and Mishra [22] presented a systematic and unified study of the classes UCV and SP . A function $f \in A$ is said to be in the class $UCD(\beta)$, $\beta \in R$, if

$$\operatorname{Re} \left(f'(z) \right) \geq \left| z f''(z) \right| \quad (z \in U).$$

The class $UCD(\beta)$ is introduced Breaz [1]. A function $f \in A$ is said to be in the class $R^\tau(A, B)$, ($\tau \in C \setminus 0$, $-1 \leq B < A \leq 1$), if it satisfied the inequality

$$\left| \frac{f'(z) - 1}{(A - B)\tau - B[f'(z) - 1]} \right| < 1 \quad (z \in U).$$

The class $R^\tau(A, B)$ was introduced earlier by Dixit and Pal [4]. Two of the many interesting subclasses of the class $R^\tau(A, B)$ are worthy of mention here. First of all, by setting

$$\tau = e^{i\eta} \cos \eta \quad \left(-\frac{\pi}{2} < \eta < \frac{\pi}{2} \right), \quad A = 1 - 2\beta \quad (0 \leq \beta < 1)$$

and $B = -1$, the class $R^\tau(A, B)$ reduces essentially to the class $R_\eta(\beta)$ introduced and studied by Ponnusamy and Ronning [13], where

$$R_\eta(\beta) = \left\{ f \in \mathcal{A} : \operatorname{Re} \left(e^{i\eta} (f'(z) - \beta) \right) > 0 \quad \left(z \in U; -\frac{\pi}{2} < \eta < \frac{\pi}{2}, 0 \leq \beta < 1 \right) \right\}.$$

Second, if we put $\tau = 1$, $A = \beta$ and $B = -\beta$ ($0 < \beta \leq 1$), we obtain the class of functions $f \in A$ satisfying the inequality

$$\left| \frac{f'(z) - 1}{f'(z) + 1} \right| < \beta \quad (z \in U; 0 < \beta \leq 1)$$

Which was studied by (among others) Padmanabham [12] and Caplinger and Causey [2], (see the work in [16] also). The Gaussian hypergeometric function $F(a, b; c; z)$ given by

$$F(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} z^n \quad (z \in U) \quad (1.2)$$

is the solution of the homogeneous hypergeometric differential equation

$$z(1 - z)w''(z) + [c - (a + b + 1)z]w'(z) - abw(z) = 0$$

and has rich applications in various fields such as conformal mappings, quasiconformal theory, continued fractions and so on.

Here, a, b, c are complex numbers such that $c \neq 0, -1, -2, -3, \dots$, $(a)_0 = 1$ for $a \neq 0$, and for each positive integer n $(a)_n = a(a + 1)(a + 2) \dots (a + n - 1)$ is the Pochhammer symbol. In the case of $c = -k, k = 0, 1, 2, \dots$, $F(a, b; c; z)$ is defined if $a = -j$ or $b = -j$ where $j \leq k$. In this situation, $F(a, b; c; z)$ becomes a polynomial of degree j with respect to z result regarding $F(a, b; c; z)$ when $\Re(c - a - b)$ is positive, zero or negative are abundant in the literature. In particular when $\Re(c - a - b) > 0$, the function is bounded. This, and zero balanced case $\Re(c - a - b) = 0$ are discussed in detail by many authors (see [14]). The hypergeometric function $F(a, b; c; z)$ has been studied extensively by various authors and plays an important role in Geometric Function Theory. It is useful in unifying various functions by giving appropriate values to the parameters a, b and c . We refer to [3, 5, 11, 13] [15]-[21] and references therein for some important results.

For function $f \in A$ given by (1.1) and $g \in A$ given by $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$, we define the Hadamard product (or convolution) of f and g by

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n, z \in U. \tag{1.3}$$

For $f \in A$, we recall the operator $I(a, b, c)(f)$ of Hohlov [7] which maps A into itself defined by means of the Hadamard product as

$$I_{a,b,c}(f)(z) = I(a, b; c; \lambda, \mu, z) * f(z). \tag{1.4}$$

Therefore, for a function defined by (1.1), we have In present paper we introduce an operator $I(a, b; c; \lambda, \mu, z)$ as follows

$$I(a, b; c; \lambda, \mu, z) = \lambda z F(a, b; c; z) + \mu z (z F(a, b; c; z))' + (1 - \lambda - \mu) \int_0^z F(a, b; c; t) dt$$

using the series representation,

$$\begin{aligned} I(a, b; c; \lambda, \mu, z) &= z + \sum_{n=2}^{\infty} \left(\lambda + \mu n + \frac{1 - \lambda - \mu}{n} \right) \frac{(a)_{n-1} (b)_{n-1}}{(c)_{n-1} (1)_{n-1}} z^n \\ &= {}_2I_1(a, b; c; \lambda, \mu, z). \end{aligned} \tag{1.5}$$

If we put $\mu = 1 - \lambda$ then it reduces to

$$I(a, b; c; \lambda, \mu, z) = \lambda zF(a, b; c; z) + (1 - \lambda)(zF(a, b; c; z))',$$

Studied by Sharma *et al.* [18]. In the present paper, we obtain certain inclusion relation involving the classes $k-UCV, k-ST, UCV, SP$. Particularly $\lambda = 1, \mu = 0$ we obtain the corresponding result of Shivasubramanian and Sokol [22].

Lemma 1.1. ([5]) *A function $f \in A$ is in the class $UCD(\beta)$ if*

$$\sum_{n=2}^{\infty} n(1 + \beta(n - 1)) |a_n| \leq 1. \tag{1.6}$$

Lemma 1.2. ([6]) *If $f \in R^\tau(A, B)$ is of the form (1.1), then*

$$|a_n| \leq (A - B) \frac{|\tau|}{n}, n \in N \setminus \{1\}. \tag{1.7}$$

The result is sharp. Let us denote (see [8], [9])

$$P_1(k) = \begin{cases} \frac{8(\arccos \cos k)^2}{\pi^2(1-k^2)}, & \text{for } 0 \leq k < 1 \\ \frac{8}{\pi^2}, & \text{for } k = 1 \\ \frac{\pi^2}{4\sqrt{t(1+t)(k^2-1)K^2(t)}} & \text{for } k > 1, \end{cases} \tag{1.8}$$

where $t \in (0, 1)$ is determined by $k = \cosh \cosh(\pi K'(t)/[4K(t)])$, K is Legendre's complete elliptic integral of the first kind

The domain Ω_k is elliptic for $k > 1$, hyperbolic when $0 < k < 1$, parabolic when $k = 1$ and a right half plane when $k = 0$. If p is an analytic function with $p(0) = 1$ which maps the unit disc U conformally onto the region Ω_k , then $P_1(k) = p'(0)$. $P_1(k)$ is a strictly decreasing function of the variable k and its values are included in the interval $(0, 2]$. Let $f \in A$ be of the form (1.1). If $f \in k - ST$, then the following coefficient inequalities hold true (cf. [9]):

$$|a_n| \leq \frac{(P_1(k))_{n-1}}{(n - 1)!}, n \in N \setminus \{1\}. \tag{1.9}$$

Let us also denote ${}_3I_2(a, b, d; c, e; \lambda, \mu, z)$ by

$${}_3I_2(a, b, d; c, e; \lambda, \mu, z) = z + \sum_{n=2}^{\infty} \left(\lambda + \mu n + \frac{1 - \lambda - \mu}{n} \right) \frac{(a)_{n-1}(b)_{n-1}(d)_{n-1}}{(c)_{n-1}(e)_{n-1}(1)_{n-1}} z^n.$$

In this paper, we estimate certain inclusion relation involving the class $k-ST$ and $UCD(\beta)$.

2. Main Results

We begin deriving a sufficient condition for the functions belonging to the class $G_H(l, \beta, p, m, k, \lambda_1, \lambda_2)$. This result is contained in the following.

Theorem 2.1. *Let $a, b \in C \setminus 0$. Also, let c be a real number such that $c > |a| + |b| + 2$. Let $f \in A$ and of the form (1.1). If the hypergeometric inequality*

$$\begin{aligned} & \frac{\Gamma(c)\Gamma(c-|a|-|b|-3)}{\Gamma(c-|a|)\Gamma(c-|b|)} [(c-|a|-|b|-3)(c-|a|-|b|-2)(c-|a|-|b|-1) \\ & + (\lambda + \beta + 2\mu + \beta\lambda + 3\mu\beta)|ab|(c-|a|-|b|-3)(c-|a|-|b|-2) \\ & + (\mu + \beta\lambda + 5\mu\beta)|ab|(1+|a|)(1+|b|)(c-|a|-|b|-3) \\ & + \mu\beta|ab|(1+|a|)(1+|b|)(2+|a|)(2+|b|)] \leq 2 \end{aligned}$$

is satisfied, then $I(a, b; c; \lambda, \mu, z) \in UCD(\beta)$.

Proof. The function $I(a, b; c; \lambda, \mu, z)$ has the series representation given by

$$I(a, b; c; \lambda, \mu, z) = z + \sum_{n=2}^{\infty} \left(\lambda + \mu n + \frac{1 - \lambda - \mu}{n} \right) \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} z^n.$$

In view of Lemma 1.1, it suffices to show that

$$S(a, b; c; \lambda, \mu, \beta) = \sum_{n=2}^{\infty} n(1 + \beta(n-1)) \left(\lambda + \mu n + \frac{1 - \lambda - \mu}{n} \right) \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} \right| \leq 1 \quad (2.1)$$

From the fact that $|(a)_n| \leq (|a|)_n$, we observe that, since c is real and positive, under the hypothesis

$$\begin{aligned} S(a, b; c; \lambda, \mu, \beta) & \leq \sum_{n=2}^{\infty} n(1 + \beta(n-1)) \left(\lambda + \mu n + \frac{1 - \lambda - \mu}{n} \right) \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\ & = \sum_{n=2}^{\infty} (1 + \beta(n-1)) (\lambda n + \mu n^2 + 1 - \lambda - \mu) \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\ & = \sum_{n=2}^{\infty} \{ \mu\beta n^3 + (\beta\lambda + \mu - \mu\beta)n^2 + (\lambda + \beta - \beta\lambda - \mu\beta)n \\ & + (1 - \lambda - \mu - \beta + \beta\lambda + \mu\beta) \} \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}}. \end{aligned}$$

Writing $\{\mu\beta n^3 + (\beta\lambda + \mu - \mu\beta)n^2 + (\lambda + \beta - \beta\lambda - \mu\beta)n + (1 - \lambda - \mu - \beta + \beta\lambda + \mu\beta)\}$ as,

$[1 + (\lambda + 2\mu + \beta + \beta\lambda + 3\mu\beta)(n - 1) + (\mu + \beta\lambda + 5\mu\beta)(n - 1)(n - 2) + \mu\beta(n - 1)(n - 2)(n - 3)]$ we get

$$\begin{aligned} S(a, b; c; \lambda, \mu, \beta) &\leq \sum_{n=2}^{\infty} \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\ &+ (\lambda + 2\mu + \beta + \beta\lambda + 3\mu\beta) \sum_{n=2}^{\infty} (n - 1) \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\ &+ (\mu + \beta\lambda + 5\mu\beta) \sum_{n=2}^{\infty} (n - 1)(n - 2) \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\ &+ \mu\beta \sum_{n=2}^{\infty} (n - 1)(n - 2)(n - 3) \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}}. \end{aligned}$$

Using the fact that

$$(a)_n = a(a + 1)_{n-1}, \tag{2.2}$$

It is so easy to see that,

$$\begin{aligned} S(a, b; c; \lambda, \mu, \beta) &\leq \sum_{n=2}^{\infty} \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\ &+ (\lambda + 2\mu + \beta + \beta\lambda + 3\mu\beta) \frac{|ab|}{c} \sum_{n=2}^{\infty} \frac{(1 + |a|)_{n-2}(1 + |b|)_{n-2}}{(1 + c)_{n-2}(1)_{n-2}} \\ &+ (\mu + \beta\lambda + 5\mu\beta) \frac{|ab|(1 + |a|)(1 + |b|)}{c(1 + c)} \sum_{n=3}^{\infty} \frac{(2 + |a|)_{n-3}(2 + |b|)_{n-3}}{(2 + c)_{n-3}(1)_{n-3}} \\ &+ \mu\beta \frac{|ab|(1 + |a|)(1 + |b|)(2 + |a|)(2 + |b|)}{c(1 + c)(2 + c)} \sum_{n=4}^{\infty} \frac{(3 + |a|)_{n-4}(3 + |b|)_{n-4}}{(3 + c)_{n-4}(1)_{n-4}}. \end{aligned}$$

From (1.2), we have

$$\begin{aligned} S(a, b; c; \lambda, \mu, \beta) &\leq I(|a|, |b|; c; \lambda, \mu, 1) - 1 \\ &+ (\lambda + 2\mu + \beta + \beta\lambda + 3\mu\beta) \frac{|ab|}{c} I(1 + |a|, 1 + |b|; 1 + c; \lambda, \mu, 1) \\ &+ (\mu + \beta\lambda + 5\mu\beta) \frac{|ab|(1 + |a|)(1 + |b|)}{c(1 + c)} I(2 + |a|, 2 + |b|; 2 + c; \lambda, \mu, 1) \\ &+ \mu\beta \frac{|ab|(1 + |a|)(1 + |b|)(2 + |a|)(2 + |b|)}{c(1 + c)(2 + c)} I(3 + |a|, 3 + |b|; 3 + c; \lambda, \mu, 1). \end{aligned}$$

Applying Gauss summation theorem

$$F(a, b; c; 1) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} = \frac{\Gamma(c) \Gamma(c - |a| - |b|)}{\Gamma(c - |a|) \Gamma(c - |b|)}$$

for $\Re(c - a - b) > 0$, last equation reduces as

$$\begin{aligned} S(a, b; c; \lambda, \mu, \beta) &= \frac{\Gamma(c) \Gamma(c - |a| - |b|)}{\Gamma(c - |a|) \Gamma(c - |b|)} - 1 \\ &+ (\lambda + 2\mu + \beta + \beta\lambda + 3\mu\beta) \frac{|ab| \Gamma(1+c) \Gamma(1+c-1-|a|-1-|b|)}{c \Gamma(1+c-1-|a|) \Gamma(1+c-1-|b|)} \\ &+ (\mu + \beta\lambda + 5\mu\beta) \frac{|ab| (1+|a|) (1+|b|) \Gamma(2+c) \Gamma(2+c-2-|a|-2-|b|)}{c(1+c) \Gamma(2+c-2-|a|) \Gamma(2+c-2-|b|)} \\ &+ \mu\beta \frac{|ab| (1+|a|) (1+|b|) (2+|a|) (2+|b|) \Gamma(3+c) \Gamma(3+c-3-|a|-3-|b|)}{c(1+c) (2+c) \Gamma(3+c-3-|a|) \Gamma(3+c-3-|b|)} \\ &= \frac{\Gamma(c) \Gamma(c - |a| - |b|)}{\Gamma(c - |a|) \Gamma(c - |b|)} - 1 \\ &+ (\lambda + 2\mu + \beta + \beta\lambda + 3\mu\beta) \frac{|ab| \Gamma(1+c) \Gamma(c - |a| - |b| - 1)}{c \Gamma(c - |a|) \Gamma(c - |b|)} \\ &+ (\mu + \beta\lambda + 5\mu\beta) \frac{|ab| (1+|a|) (1+|b|) \Gamma(2+c) \Gamma(c - |a| - |b| - 2)}{c(1+c) \Gamma(c - |a|) \Gamma(c - |b|)} \\ &+ \mu\beta \frac{|ab| (1+|a|) (1+|b|) (2+|a|) (2+|b|) \Gamma(3+c) \Gamma(c - |a| - |b| - 3)}{c(1+c) (2+c) \Gamma(c - |a|) \Gamma(c - |b|)} \\ &\Rightarrow \frac{\Gamma(c) \Gamma(c - |a| - |b|)}{\Gamma(c - |a|) \Gamma(c - |b|)} - 1 \\ &+ (\lambda + 2\mu + \beta + \beta\lambda + 3\mu\beta) \frac{|ab| \Gamma(1+c) \Gamma(c - |a| - |b| - 1)}{c \Gamma(c - |a|) \Gamma(c - |b|)} \\ &+ (\mu + \beta\lambda + 5\mu\beta) \frac{|ab| (1+|a|) (1+|b|) \Gamma(2+c) \Gamma(c - |a| - |b| - 2)}{c(1+c) \Gamma(c - |a|) \Gamma(c - |b|)} \\ &+ \mu\beta \frac{|ab| (1+|a|) (1+|b|) (2+|a|) (2+|b|) \Gamma(3+c) \Gamma(c - |a| - |b| - 3)}{c(1+c) (2+c) \Gamma(c - |a|) \Gamma(c - |b|)} \\ &\leq 1 \\ &\Rightarrow \frac{\Gamma(c) \Gamma(c - |a| - |b| - 3)}{\Gamma(c - |a|) \Gamma(c - |b|)} [(c - |a| - |b| - 3) (c - |a| - |b| - 2) (c - |a| - |b| - 1) \\ &+ (\lambda + \beta + 2\mu + \beta\lambda + 3\mu\beta) |ab| (c - |a| - |b| - 3) (c - |a| - |b| - 2) + (\mu + \beta\lambda + 5\mu\beta) \end{aligned}$$

$$|ab|(1+|a|)(1+|b|)(c-|a|-|b|-3) + \mu\beta|ab|(1+|a|)(1+|b|)(2+|a|)(2+|b|) \leq 2.$$

In the special case when $\lambda = 1$ and $\mu = 0$, Theorem 2.1 immediately yields a following result of Sivasubramanian *et al.* [22].

Corollary 2.2. *Let $a, b \in C \setminus 0$. Also, let c be a real number such that $c > |a| + |b| + 2$. Let $f \in A$ and of the form (1.1). If the hypergeometric inequality*

$$\frac{\Gamma(c)\Gamma(c-|a|-|b|-2)}{\Gamma(c-|a|)\Gamma(c-|b|)} [(c-|a|-|b|-2)(c-|a|-|b|-1)$$

$$+ (1+2\beta)|ab|(c-|a|-|b|-2) + \beta|ab|(1+|a|)(1+|b|)] \leq 2$$

is satisfied, then $zF(a, b; c; z) \in UCD(\beta)$.

Theorem 2.3. *Let $a, b \in C \setminus 0$. Also, let c be a real number such that $c > |a| + |b| + 1$. If $f \in R^\tau(A, B)$, and if the inequality*

$$\frac{\Gamma(c)\Gamma(c-|a|-|b|-2)}{\Gamma(c-|a|)\Gamma(c-|b|)} \left\{ \begin{aligned} & (\lambda + \mu + \beta - \mu\beta - \beta\lambda) [(c-|a|-|b|-1)(c-|a|-|b|-2)] \\ & + (\mu + \beta\lambda + 2\mu\beta)|ab|(c-|a|-|b|-2) + \mu\beta|ab|(1+|a|)(1+|b|) \\ & + \frac{(1-\lambda-\mu)(1-\beta)[(c-|a|-|b|)(c-|a|-|b|-1)(c-|a|-|b|-2)]}{(|a|-1)(|b|-1)} \end{aligned} \right\}$$

$$\leq \frac{1}{(A-B)|\tau|} + \frac{(1-\lambda-\mu)(1-\beta)(c-1)}{(|a|-1)(|b|-1)} + 1. \quad (2.3)$$

is satisfied, then $I(a, b; c; \lambda, \mu, z) \in UCD(\beta)$.

Proof. Let f be of the form (1.1) belongs to the class $f \in R^\tau(A, B)$. By virtue of Lemma 1.1 it suffices to show that

$$\sum_{n=2}^{\infty} n(1+\beta(n-1)) \left(\lambda + \mu n + \frac{1-\lambda-\mu}{n} \right) \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} a_n \right| \leq 1. \quad (2.4)$$

Taking in to account of the inequality (1.7) and the relation $|(a)_{n-1}| \leq (|a|)_{n-1}$, we deduce that

$$\sum_{n=2}^{\infty} n(1+\beta(n-1)) \left(\lambda + \mu n + \frac{1-\lambda-\mu}{n} \right) \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} a_n \right|$$

$$\leq (A-B)|\tau| \sum_{n=2}^{\infty} (1+\beta(n-1)) \left(\frac{\lambda n + \mu n^2 + 1 - \lambda - \mu}{n} \right) \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} a_n \right|$$

$$\begin{aligned}
&= (A - B) |\tau| \sum_{n=2}^{\infty} \left[(\lambda + \beta - \mu\beta - 2\beta\lambda) + (\beta\lambda + \mu)n + \mu\beta n(n-1) + (1 - \lambda - \mu)(1 - \beta) \frac{1}{n} \right] \\
&\quad \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} \right| \\
&= (A - B) |\tau| \sum_{n=2}^{\infty} [(\lambda + \beta - \mu\beta - 2\beta\lambda + \beta\lambda + \mu) + (\beta\lambda + \mu)(n-1) + \mu\beta(n-1)(n-2) \\
&\quad + 2\mu\beta(n-1) + (1 - \lambda - \mu)(1 - \beta) \frac{1}{n}] \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} \right| \\
&= (A - B) |\tau| \sum_{n=2}^{\infty} [(\lambda + \mu + \beta - \mu\beta - \beta\lambda) + (\mu + \beta\lambda + 2\mu\beta)(n-1) + \mu\beta(n-1)(n-2) \\
&\quad + (1 - \lambda - \mu)(1 - \beta) \frac{1}{n}] \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} \right| \\
&= (A - B) |\tau| (\lambda + \mu + \beta - \mu\beta - \beta\lambda) \sum_{n=2}^{\infty} \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\
&\quad + (A - B) |\tau| (\mu + \beta\lambda + 2\mu\beta) \sum_{n=2}^{\infty} (n-1) \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\
&\quad + (A - B) |\tau| \mu\beta \sum_{n=2}^{\infty} (n-1)(n-2) \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\
&\quad + (A - B) |\tau| (1 - \lambda - \mu)(1 - \beta) \sum_{n=2}^{\infty} \frac{1}{n} \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\
&= (A - B) |\tau| (\lambda + \mu + \beta - \mu\beta - \beta\lambda) \sum_{n=2}^{\infty} \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\
&\quad + (A - B) |\tau| (\mu + \beta\lambda + 2\mu\beta) \frac{|ab|}{c} \sum_{n=2}^{\infty} \frac{(1 + |a|)_{n-2}(1 + |b|)_{n-2}}{(1 + c)_{n-2}(1)_{n-2}} \\
&\quad + (A - B) |\tau| \mu\beta \frac{|ab|(1 + |a|)(1 + |b|)}{c(1 + c)} \sum_{n=3}^{\infty} \frac{(2 + |a|)_{n-3}(2 + |b|)_{n-3}}{(2 + c)_{n-3}(1)_{n-3}} \\
&\quad + (A - B) |\tau| (1 - \lambda - \mu)(1 - \beta) \frac{(c-1)}{(|a|-1)(|b|-1)} \sum_{n=2}^{\infty} \frac{(|a|-1)_n(|b|-1)_n}{(c-1)_n(1)_n}
\end{aligned}$$

Using (1.2) last equation reduces as

$$\begin{aligned}
&\sum_{n=2}^{\infty} n(1 + \beta(n-1)) \left(\lambda + \mu n + \frac{1 - \lambda - \mu}{n} \right) \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} \right| \\
&\leq (A - B) |\tau| (\lambda + \mu + \beta - \mu\beta - \beta\lambda) [I(|a|, |b|; c; \lambda, \mu, 1) - 1]
\end{aligned}$$

$$\begin{aligned}
 & + (A - B) |\tau| (\mu + \beta\lambda + 2\mu\beta) \frac{|ab|}{c} I(1 + |a|, 1 + |b|; 1 + c; \lambda, \mu, 1) \\
 & + (A - B) |\tau| \mu\beta \frac{|ab| (1 + |a|) (1 + |b|)}{c(1 + c)} I(2 + |a|, 2 + |b|; 2 + c; \lambda, \mu, 1) \\
 & + (A - B) |\tau| (1 - \lambda - \mu) (1 - \beta) \frac{(c - 1)}{(|a| - 1) (|b| - 1)} \\
 & \left[I(|a| - 1, |b| - 1; c - 1; \lambda, \mu, 1) - 1 - \frac{(|a| - 1) (|b| - 1)}{(c - 1)} \right].
 \end{aligned}$$

Now, applying Gauss summation theorem, we get

$$\begin{aligned}
 & = (A - B) |\tau| \left\{ (\lambda + \mu + \beta - \mu\beta - \beta\lambda) \left[\frac{\Gamma(c) \Gamma(c - |a| - |b|)}{\Gamma(c - |a|) \Gamma(c - |b|)} - 1 \right] \right. \\
 & + (\mu + \beta\lambda + 2\mu\beta) \frac{|ab|}{c} \frac{\Gamma(1 + c) \Gamma(1 + c - 1 - |a| - 1 - |b|)}{\Gamma(1 + c - 1 - |a|) \Gamma(1 + c - 1 - |b|)} \\
 & + \mu\beta \frac{|ab| (1 + |a|) (1 + |b|)}{c(1 + c)} \frac{\Gamma(2 + c) \Gamma(2 + c - 2 - |a| - 2 - |b|)}{\Gamma(2 + c - 2 - |a|) \Gamma(2 + c - 2 - |b|)} \\
 & + (1 - \lambda - \mu) (1 - \beta) \frac{(c - 1)}{(|a| - 1) (|b| - 1)} \left[\frac{\Gamma(c - 1) \Gamma(c - 1 - |a| + 1 - |b| + 1)}{\Gamma(c - 1 - |a| + 1) \Gamma(c - 1 - |b| + 1)} \right. \\
 & \left. - 1 - \frac{(|a| - 1) (|b| - 1)}{(c - 1)} \right] \left. \right\} \\
 & = (A - B) |\tau| \left\{ (\lambda + \mu + \beta - \mu\beta - \beta\lambda) \left[\frac{\Gamma(c) \Gamma(c - |a| - |b|)}{\Gamma(c - |a|) \Gamma(c - |b|)} - 1 \right] \right. \\
 & + (\mu + \beta\lambda + 2\mu\beta) \frac{|ab|}{c} \frac{\Gamma(1 + c) \Gamma(c - |a| - |b| - 1)}{\Gamma(c - |a|) \Gamma(c - |b|)} \\
 & + \mu\beta \frac{|ab| (1 + |a|) (1 + |b|)}{c(1 + c)} \frac{\Gamma(2 + c) \Gamma(c - |a| - |b| - 2)}{\Gamma(c - |a|) \Gamma(c - |b|)} \\
 & + (1 - \lambda - \mu) (1 - \beta) \frac{(c - 1)}{(|a| - 1) (|b| - 1)} \left[\frac{\Gamma(c - 1) \Gamma(c - |a| - |b| + 1)}{\Gamma(c - |a|) \Gamma(c - |b|)} \right. \\
 & \left. - 1 - \frac{(|a| - 1) (|b| - 1)}{(c - 1)} \right] \left. \right\} \\
 & = (A - B) |\tau| \frac{\Gamma(c) \Gamma(c - |a| - |b| - 2)}{\Gamma(c - |a|) \Gamma(c - |b|)} \\
 & \left\{ \begin{aligned}
 & (\lambda + \mu + \beta - \mu\beta - \beta\lambda) [(c - |a| - |b| - 1) (c - |a| - |b| - 2)] \\
 & + (\mu + \beta\lambda + 2\mu\beta) |ab| (c - |a| - |b| - 2) + \mu\beta |ab| (1 + |a|) (1 + |b|) \\
 & + \frac{(1 - \lambda - \mu)(1 - \beta)[(c - |a| - |b|)(c - |a| - |b| - 1)(c - |a| - |b| - 2)]}{(|a| - 1)(|b| - 1)}
 \end{aligned} \right\}
 \end{aligned}$$

$$\begin{aligned}
 & - (A - B) |\tau| \left\{ (\lambda + \mu + \beta - \mu\beta - \beta\lambda) + \frac{(1 - \lambda - \mu)(1 - \beta)(c - 1)}{(|a| - 1)(|b| - 1)} + (1 - \lambda - \mu)(1 - \beta) \right\} \\
 & = (A - B) |\tau| \frac{\Gamma(c)\Gamma(c - |a| - |b| - 2)}{\Gamma(c - |a|)\Gamma(c - |b|)} \\
 & \quad \left\{ \begin{aligned} & (\lambda + \mu + \beta - \mu\beta - \beta\lambda) [(c - |a| - |b| - 1)(c - |a| - |b| - 2)] \\ & + (\mu + \beta\lambda + 2\mu\beta) |ab| (c - |a| - |b| - 2) + \mu\beta |ab| (1 + |a|)(1 + |b|) \\ & + \frac{(1 - \lambda - \mu)(1 - \beta)[(c - |a| - |b|)(c - |a| - |b| - 1)(c - |a| - |b| - 2)]}{(|a| - 1)(|b| - 1)} \end{aligned} \right\} \\
 & - (A - B) |\tau| \left\{ (\lambda + \mu + \beta - \mu\beta - \beta\lambda) + \frac{(1 - \lambda - \mu)(1 - \beta)(c - 1)}{(|a| - 1)(|b| - 1)} \right. \\
 & \quad \left. + (1 - \lambda - \mu - \beta + \mu\beta + \beta\lambda) \right\}. \\
 & \Rightarrow \frac{\Gamma(c)\Gamma(c - |a| - |b| - 2)}{\Gamma(c - |a|)\Gamma(c - |b|)} \\
 & \quad \left\{ \begin{aligned} & (\lambda + \mu + \beta - \mu\beta - \beta\lambda) [(c - |a| - |b| - 1)(c - |a| - |b| - 2)] \\ & + (\mu + \beta\lambda + 2\mu\beta) |ab| (c - |a| - |b| - 2) + \mu\beta |ab| (1 + |a|)(1 + |b|) \\ & + \frac{(1 - \lambda - \mu)(1 - \beta)[(c - |a| - |b|)(c - |a| - |b| - 1)(c - |a| - |b| - 2)]}{(|a| - 1)(|b| - 1)} \end{aligned} \right\} \\
 & \leq \frac{1}{(A - B) |\tau|} + \frac{(1 - \lambda - \mu)(1 - \beta)(c - 1)}{(|a| - 1)(|b| - 1)} + 1.
 \end{aligned}$$

Repeating the above reasoning for $|b| = |a|$, we can improve the assertion of Theorem 2.3 as follows.

Corollary 2.4. *Let $a, b \in C \setminus 0$. Suppose that $|b| = |a|$. Further, let c be a real number such that $c > 2|a| + 1$. If $f \in R^\tau(A, B)$, and if the inequality*

$$\begin{aligned}
 & \frac{\Gamma(c)\Gamma(c - 2|a| - 2)}{[\Gamma(c - |a|)]^2} \left\{ \begin{aligned} & (\lambda + \mu + \beta - \mu\beta - \beta\lambda) [(c - 2|a| - 1)(c - 2|a| - 2)] \\ & + (\mu + \beta\lambda + 2\mu\beta) |a|^2 (c - 2|a| - 2) + \mu\beta |a|^2 (1 + |a|)^2 \\ & + \frac{(1 - \lambda - \mu)(1 - \beta)[(c - 2|a|)(c - 2|a| - 1)(c - 2|a| - 2)]}{(|a| - 1)^2} \end{aligned} \right\} \\
 & \leq \frac{1}{(A - B) |\tau|} + \frac{(1 - \lambda - \mu)(1 - \beta)(c - 1)}{(|a| - 1)^2} + 1 \tag{2.5}
 \end{aligned}$$

is satisfied, then $I_{(a, a, c)}(f) \in UCD(\beta)$.

Particularly when $\lambda = 1$ and $\mu = 0$, Theorem 2.3 yields a following result of Sivasubramanian et al [22].

Corollary 2.5. *Let $a, b \in C \setminus 0$. Also, let c be a real number such that $c > |a| + |b| + 1$. If $f \in R^\tau(A, B)$, and if the inequality*

$$\frac{\Gamma(c)\Gamma(c - |a| - |b| - 1)}{\Gamma(c - |a|)\Gamma(c - |b|)} [(c - |a| - |b| - 1) + \beta |ab|] \leq \frac{1}{(A - B) |\tau|} + 1. \tag{2.6}$$

is satisfied, then $I(a, b, c; \lambda, \mu, z) \in UCD(\beta)$.

Proof. Let f be of the form (1.1) belongs to the class $R^\tau(A, B)$. By virtue of

Lemma 1.1 it suffices to show that

$$\sum_{n=2}^{\infty} n(1 + \beta(n - 1)) \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} a_n \right| \leq 1.$$

Taking in to account of the inequality (1.7) and the relation $|(a)_{n-1}| \leq (|a|)_{n-1}$, we deduce that

$$\begin{aligned} \sum_{n=2}^{\infty} n(1 + \beta(n - 1)) \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} a_n \right| &\leq (A - B) |\tau| \sum_{n=2}^{\infty} (1 + \beta(n - 1)) \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} \right| \\ &= (A - B) |\tau| \sum_{n=2}^{\infty} \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} + \beta(A - B) |\tau| \sum_{n=2}^{\infty} \frac{(|a|)_{n-1}(|b|)_{n-1}}{(c)_{n-1}(1)_{n-1}} \end{aligned}$$

By applying Gauss summation Theorem we get required result.

In the special case when $b = 1, \lambda = 1$ and $\mu = 0$, Theorem 2.3 immediately yields a result concerning the Carlson-Shaffer operator $\mathcal{L}(a, c)(f) = I_{a,1,c}(f)$ (see [3]).

Corollary 2.6. *Let $a \in C \setminus 0$. Also, let c be a real number such that $c > |a| + 2$. If $f \in R^{\tau}(A, B)$, and if the inequality*

$$\frac{\Gamma(c)\Gamma(c - |a| - 2)}{\Gamma(c - |a|)\Gamma(c - 1)} [\beta|a| + (c - |a| - 2)] \leq \frac{1}{(A - B)|\tau|} + 1 \tag{2.7}$$

is satisfied, then $\mathcal{L}(a, c)(f) \in UCD(\beta)$.

Theorem 2.7. *Let $a, b \in C \setminus 0$. Also, let c be a real number and $P_1 = P_1(k)$ be given by (1.8). If $f \in k - ST$, for some $k(0 \leq k < \infty)$, and the inequality*

$$\begin{aligned} &{}_3I_2(|a|, |b|, P_1; c, 1; \lambda, \mu, 1) + (\lambda + 2\mu + \beta) \frac{|ab|P_1}{c} {}_3I_2(1 + |a|, 1 + |b|, 1 + P_1; 1 + c, 2; \lambda, \mu, 1) \\ &+ (\mu + \beta\lambda + 3\mu\beta) \frac{|ab|P_1}{c} {}_3I_2(1 + |a|, 1 + |b|, 1 + P_1; 1 + c, 1; \lambda, \mu, 1) \\ &+ \mu\beta \frac{|ab|(1 + |a|)(1 + |b|)(1 + P_1)}{c(1 + c)} {}_3I_2(2 + |a|, 2 + |b|, 2 + P_1; 2 + c, 3; \lambda, \mu, 1) \leq 2 \end{aligned} \tag{2.8}$$

is satisfied, then $I_{a,b,c}(f) \in UCD(\beta)$.

Proof. Let f be given by (1.1). By (1.6), to show $I_{a,b,c}(f) \in UCD(\beta)$ it is sufficient to prove that

$$\sum_{n=2}^{\infty} n(1 + \beta(n-1)) \left(\lambda + \mu n + \frac{1 - \lambda - \mu}{n} \right) \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} a_n \right| \leq 1.$$

We will repeat the method of proving used in the proof of Theorem 2.1. Applying the estimates for the coefficients given by (1.9), and make use of the (2.2) and $|(a)_{n-1}| \leq (|a|)_{n-1}$, we get

$$\begin{aligned} & \sum_{n=2}^{\infty} n(1 + \beta(n-1)) \left(\lambda + \mu n + \frac{1 - \lambda - \mu}{n} \right) \left| \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} a_n \right| \\ & \leq \sum_{n=2}^{\infty} n(1 + \beta(n-1)) \left(\lambda + \mu n + \frac{1 - \lambda - \mu}{n} \right) \frac{(|a|)_{n-1}(|b|)_{n-1}(P_1)_{n-1}}{(c)_{n-1}(1)_{n-1}(1)_{n-1}} \\ & = \sum_{n=2}^{\infty} n(1 + \beta(n-1)) \left(\frac{\lambda n + \mu n^2 + 1 - \lambda - \mu}{n} \right) \frac{(|a|)_{n-1}(|b|)_{n-1}(P_1)_{n-1}}{(c)_{n-1}(1)_{n-1}(1)_{n-1}} \\ & = \sum_{n=2}^{\infty} (1 + \beta(n-1)) (\lambda n + \mu n^2 + 1 - \lambda - \mu) \frac{(|a|)_{n-1}(|b|)_{n-1}(P_1)_{n-1}}{(c)_{n-1}(1)_{n-1}(1)_{n-1}} \\ & = \sum_{n=2}^{\infty} [\mu\beta n^3 + (\beta\lambda + \mu - \mu\beta)n^2 + (\lambda + \beta - 2\beta\lambda - \mu\beta)n + (1 - \lambda - \mu - \beta + \beta\lambda + \mu\beta)] \\ & \quad \frac{(|a|)_{n-1}(|b|)_{n-1}(P_1)_{n-1}}{(c)_{n-1}(1)_{n-1}(1)_{n-1}} \\ & = \sum_{n=2}^{\infty} [1 + (\lambda + 2\mu + \beta)(n-1) + (\mu + \beta\lambda + 3\mu\beta)(n-1)(n-1) + \mu\beta(n-1)(n-1)(n-2)] \\ & \quad \frac{(|a|)_{n-1}(|b|)_{n-1}(P_1)_{n-1}}{(c)_{n-1}(1)_{n-1}(1)_{n-1}} \\ & = \sum_{n=2}^{\infty} \frac{(|a|)_{n-1}(|b|)_{n-1}(P_1)_{n-1}}{(c)_{n-1}(1)_{n-1}(1)_{n-1}} + (\lambda + 2\mu + \beta) \sum_{n=2}^{\infty} (n-1) \frac{(|a|)_{n-1}(|b|)_{n-1}(P_1)_{n-1}}{(c)_{n-1}(1)_{n-1}(1)_{n-1}} \\ & \quad + (\mu + \beta\lambda + 3\mu\beta) \sum_{n=2}^{\infty} (n-1)(n-1) \frac{(|a|)_{n-1}(|b|)_{n-1}(P_1)_{n-1}}{(c)_{n-1}(1)_{n-1}(1)_{n-1}} \\ & \quad + \mu\beta \sum_{n=2}^{\infty} (n-1)(n-1)(n-2) \frac{(|a|)_{n-1}(|b|)_{n-1}(P_1)_{n-1}}{(c)_{n-1}(1)_{n-1}(1)_{n-1}}. \end{aligned}$$

Using the fact that $(a)_n = a(a+1)_{n-1}$, It is so easy to see that

$$\begin{aligned}
 &= \sum_{n=2}^{\infty} \frac{(|a|)_{n-1}(|b|)_{n-1}(P_1)_{n-1}}{(c)_{n-1}(1)_{n-1}(1)_{n-1}} \\
 &+ (\lambda + 2\mu + \beta) \frac{|ab| P_1}{c} \sum_{n=2}^{\infty} \frac{(1+|a|)_{n-2}(1+|b|)_{n-2}(1+P_1)_{n-2}}{(1+c)_{n-2}(2)_{n-2}(1)_{n-2}} \\
 &+ (\mu + \beta\lambda + 3\mu\beta) \frac{|ab| P_1}{c} \sum_{n=2}^{\infty} \frac{(1+|a|)_{n-2}(1+|b|)_{n-2}(1+P_1)_{n-2}}{(1+c)_{n-2}(1)_{n-2}(1)_{n-2}} \\
 &+ \mu\beta \frac{|ab| P_1 (1+|a|)(1+|b|)(1+P_1)}{c(1+c)} \sum_{n=3}^{\infty} \frac{(2+|a|)_{n-3}(2+|b|)_{n-3}(2+P_1)_{n-3}}{(2+c)_{n-3}(3)_{n-3}(1)_{n-3}}.
 \end{aligned}$$

From (1.2),

$$\begin{aligned}
 &= {}_3I_2(|a|, |b|, P_1; c, 1; \lambda, \mu, 1) - 1 \\
 &+ (\lambda + 2\mu + \beta) \frac{|ab| P_1}{c} {}_3I_2(1+|a|, 1+|b|, 1+P_1; 1+c, 2; \lambda, \mu, 1) \\
 &+ (\mu + \beta\lambda + 3\mu\beta) \frac{|ab| P_1}{c} {}_3I_2(1+|a|, 1+|b|, 1+P_1; 1+c, 1; \lambda, \mu, 1) \\
 &+ \mu\beta \frac{|ab|(1+|a|)(1+|b|)(1+P_1)}{c(1+c)} {}_3I_2(2+|a|, 2+|b|, 2+P_1; 2+c, 3; \lambda, \mu, 1). \\
 &\leq 1 \\
 &\Rightarrow {}_3I_2(|a|, |b|, P_1; c, 1; \lambda, \mu, 1) + (\lambda + 2\mu + \beta) \frac{|ab| P_1}{c} {}_3I_2(1+|a|, 1+|b|, 1+P_1; 1+c, 2; \lambda, \mu, 1) \\
 &+ (\mu + \beta\lambda + 3\mu\beta) \frac{|ab| P_1}{c} {}_3I_2(1+|a|, 1+|b|, 1+P_1; 1+c, 1; \lambda, \mu, 1) \\
 &+ \mu\beta \frac{|ab|(1+|a|)(1+|b|)(1+P_1)}{c(1+c)} {}_3I_2(2+|a|, 2+|b|, 2+P_1; 2+c, 3; \lambda, \mu, 1) \leq 2.
 \end{aligned}$$

If $|b| = |a|$ we can rewrite the Theorem 2.7 as follows.

Corollary 2.8. *Let $a, b \in C \setminus 0$. Suppose that $|b| = |a|$. Also, let c be a real number and $P_1 = P_1(k)$ be given by (1.8). If $f \in k-ST$, for some $k(0 \leq k < \infty)$, and the inequality*

$$\begin{aligned}
 &{}_3I_2(|a|, |a|, P_1; c, 1; \lambda, \mu, 1) + (\lambda + 2\mu + \beta) \frac{|a|^2 P_1}{c} {}_3I_2(1+|a|, 1+|a|, 1+P_1; 1+c, 2; \lambda, \mu, 1) \\
 &+ (\mu + \beta\lambda + 3\mu\beta) \frac{|a|^2 P_1}{c} {}_3I_2(1+|a|, 1+|a|, 1+P_1; 1+c, 1; \lambda, \mu, 1)
 \end{aligned}$$

$$+\mu\beta \frac{|a|^2 (1+|a|)(1+|a|)(1+P_1)}{c(1+c)} {}_3I_2(2+|a|, 2+|a|, 2+P_1; 2+c, 3; \lambda, \mu, 1) \leq 2$$

is satisfied, then $I_{(a,b,c)}(f) \in UCD(\beta)$.

Acknowledgement

The authors are very grateful to the referees for their valuable comments and suggestions which helped to improve the paper.

References

- [1] Breaz D., Integral operators on the $UCD(\beta)$ -class, Proceedings of the international conference of Theory and Applications of Mathematics and informatics - ICTAMI 2003 Alba Lulia, 61-66.
- [2] Caplinger T. R. and Causey W. M., A class of univalent functions, Proc. Amer. Math. Soc., 39 (1973), 357-361.
- [3] Carlson B. C. and Shaffer D. B., Starlike and prestarlike hypergeometric functions, SIAM J. Math. Anal., 15 (1984), 737-745.
- [4] Dixit K. K. and Pal S. K., On a class of univalent functions related to complex order, Indian J. Pure Appl. Math., 26(9) (1995), 889-896.
- [5] Gangadaran A., Sanmugam T. N. and Srivastava H. M., Generalized hypergeometric functions associated with k-uniformly convex functions, Comput. Math. Appl., 44 (2002), 1515-1526.
- [6] Goodman A. W., On uniformly convex functions, Ann. Polon. Math., 56 (1991), 87-92.
- [7] Holov Y. E., Operators and operations in the class of univalent functions, Izv. Vyss. Ucebn. Zaved. Mat., 10 (1978), 83-89.
- [8] Kanas S. and Wisniowska A., Conic regions and k-uniform convexity, J. Comput. Appl. Math., 105 (1999), 327-336.
- [9] Kanas S. and Wisniowska A., Conic regions and k-starlike functions, Rev. Roumaine Math. Pure Appl., 45 (2000), 647-657.
- [10] Kanas S. and Srivastava H. M., Linear operators associated with k-uniformly convex functions, Integral Transform. Spec. Funct., 9 (2000), 121-132.

- [11] Kim Y. C. and Ronning F., Integral transforms on certain subclasses of analytic functions, *J. Math. Anal. Appl.*, 258 (2001), 466-486.
- [12] Padmanabhan K. S., On a certain class of function whose derivatives have a positive real part in the unite disc, *Ann. Polon. Math.*, 23 (1970), 73-81.
- [13] Ponnusamy S. and Ronning F., Duality for Hardamard products applied to certain integral transforms, *Complex Variables Theory Appl.*, 32 (1997), 263-287.
- [14] Ponnusamy S., Hypergeometric transforms of functions with derivative in a half plane, *J. Comput. Appl. Math.*, 96 (1998), 35-49.
- [15] Raina R. K. and Sharma P., Subordination properties of univalent functions involving a new class of operators, *Electronic J. Math. Anal. Appl.*, 2(1) (2014), 37-52.
- [16] Shanmugam T. N., hypergeometric functions in the geometrical function theory, *Appl. Math. Comput.*, 187 (2007), 433-444.
- [17] Shanmugam T. N. and Sivasubramanian S., On the Hohlov convolution of the class $S_P(\alpha, \beta)$, *Aust. J. Math. Anal. Appl.*, 2(2) (2005), 9 Art. 7.
- [18] Sharma A. K., Porwal S. and Dixit K. K., Class mappings properties of convolutions involving certain univalent functions associated with hypergeometric functions, *Electronic J. Math. Anal. Appl.*, 1(2) (2013), 326-333.
- [19] Sharma P. and Raina R. K., On a generalized hypergeometric operator and its mapping structures, *Proc. Jangjeon Math. Soc.*, 19(3) (2016), 545-562.
- [20] Singh B. and Porwal S., An application of hypergeometric function on certain classes of analytic functions, *Int. J. Math. Arch.*, 9(1) (2018), 208-212.
- [21] Sivasubramanian S. and Sokol J., Hypergeometric transforms in certain classes of analytic functions, *Math. Comput. Model.*, 54 (2011), 3076-3082.
- [22] Srivastava H. M. and Mishra A. K., Applications on fractional calculus to parabolic starlike and uniformly convex functions, *J. Comput. Appl. Math.*, 39(3-4) (2000), 57-69.

